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Time Aliowed: |-1/4 Hours Maximum darks : 50

Note ;- Answer Question No. 1 which is compuls sry and any four of the rest
Marks are indicated against each.
{This question paper consists of 2 pages and has 7 Questions)

Q. No. 2(a}

0. No. 3(a)

(b}

()

(). No. 4(a)

Simplify: 3% - [}é X (4+ 3% - 7)] (5 Marks)

A circular play ground with 84 meters diameters bas a 7 meter wide race track around
it. Find the cost of fixing tiles on the race track @ Rs. 50/- per square meter.

(5 Marks)

A horse is tied to one corner of a rectangular grass field of length 50 meters and breadth
30 meters by a 21 meters long rope. Over how much area on the field can the horse

. 22
graze. {UseTt= 7) (5 Marks)

A father is 25 years older than his son. However, he will be twice as old as the son
after 7 years. Find the present age of the father and the son. (5 Marks)

What quantity of rice of variety A costing Rs. 30/- per kg and variety B of Rs. 80/- kg
should be mixed to get 5 Kg. of rice costing of Rs. 50/~ per K. (3 Marlks)
i

1 : ' 1 ‘
A man spends T of his monthly salary on house rent, % on petrol 3 on house hoid

grocery and saves Rs. 9200/- per month. What is the total monthly salary. (4 Marks)

A bank lends a sum of money @ 15% per annu 1 simple interest to Satish. After 5
years Satish returns the Joan by depositing Rs. 3,50,000/-. What was the initial amount
of loan taken by Satish. : (3 Marks)

Two trains of length 180 meters and 220 meters are travelling in opposite directions on
two adjacent parallel railway tracks at a speed of 64 Kms. and 80 Kms. per hour
respectively. How many seconds these trains will take to cross each other completely.
(5 Marks)

A no. of men can finish a work in 10 days. If however there were 10 men less. it witl
take 10 days more for the work to be finished. How many men were there originally.

{5 Marks)

Contd... 2/-




(. No. 5(a)

=

(©)

(). No. 6(a)

Q. No. 7(a)

{h)

- O

A wheel of a car of radius 21 cms is rotating @ 600 rpm. What is the speed of the car
in km per hour. (5 Marks)

A cube of 7 cms length is used to make wire of radius 14 mm. Find the length of the
wire, (3 Marks)

Arrange is descending order:

¥

|

, E , 2 (2 Marks)
7 11

B RS

Three friends Amar, Akbar and Anthony divide Rs. 1105/- amongst them in such a way
that if Rs. 10, 12, and Rs. 15 are removed from the sum that Amar, Akbar and Anthony
received respectively, then the share of the sum that they got will be in the ration of
11:18:24. How much amount did Anthony receive. (5 Marks)

Ram invested a sum of money in a bank that paid simple interest. The amount grew to* -
Rs. 480/~ at the end of two years. Ram waited for another 3 years and got a final
amount of Rs. 600/-. What was the Principal amount the Ram invested initially.

(5 Marks)

In how ritgny years a sum of money will get doubled @ 8% per annum simple interest.
(5 Marks)

A train travelling at 72 kms per hour crosses a platform in 30 seconds and a man
standing at the platform in 18 seconds. What is the length of the platform in meters.

(5 Marks)
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GOVERNMENT ACCOUNTS
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Note :-Answer Part 'A' which is Compulsory, and any Thyee Cinestions from Pavt'B'
(This question paper consists of 3 pages and has 9 Duestions)

PART ‘A’

€3N, 1 Fillin the blanks.

) I was relieved from the responslblhty of compiling the accounts of the Union
(.rovqnmont (civil) in a phased manner from the 1% April, 1976.

(b) Under the Departmentalised Accounting SYStem, .........oeerveeviereriieiinn. is the Chief Accounting
- Authority of the Ministry/ Department. ‘

{¢) The specific approval of .o, should be obtained for creation or reorganizaiion of a
new Pay & Accounts Office.

(d} Paymeunts onr account of settlement of inter-departmental transactions bhould be made by issuing
cheques with superscr 1pt10n ............................ ", S

(g} The Pay & ‘Accounts Ofﬁce in account with a Public Sector Bank should post the total of ach
“day’s paymentq and 15b61p1,8 as per the scrolls in the Register ....vovvvivnine in Form CAM 17.

(£} Normally the salary bills should reach Pay & Accounts OfﬁceE R) TP UTOTPUTRIIN of the month to
which they relate.

{g) Bank drafis or cheques received in the Pay & Accounts Office should be enlered in ihe
....................... .. (in Form 16) for watching their remittance imo bank. and clearance.

(hy The office named .....ccoceevveeensn +verr. ostablished with sffect Fom 1% January 1990 is
rasponsible for arranging payments of pension to Central Civil pensianers and Freedomi fighters
ate. through the authorized banks.

() General Provident Fund (GPF) Annual Statements should be prepared m Form 49 and despatchi:!
by Pay. & Accounts Office not lafer than .................. each year.

4} I _...is collected by the Government from the accredited banks on the belated remittances of
receipis to Government account.
(Marks 10 X 2 = 20)




-2 -

2. (a) State whether the following statements are “I'rue’ or ‘False’.

(i) Revalidation of time-barred cheque by PAO/ Cheque Drawing DDO 1s not permissible.

(i)  The Pay & Accounts Office receives copies of Main Scroll for certification from the main
branch of the accredited bank.

(iiiy  The respective Pay & Accounts Office of the Ministry/ Department is responsible for
' issuing Pension Payment Order in respect of the -Central Government (civil) employees
retiring from their Ministry / Department.

(iv)  The Cheque Drawing DDOs of Ministries/ Departments are not authorized to make
payments of advances out of General Provident Fund to their employees.

(v)  The Principal Accounts Office of a Ministry / Depattment is responsible for consolidating
the accounts of that Ministry/ Department. ‘

(Marks 5 X 2 =10)

(b) Match the following. In writing your answer in your answer book, the statement under
column 1 need not be written. '

Clolumn I Columun IT

(1) Payment Scrolls are prepared by (a) Principal - Accounts Office of the
Ministry/ Department concerned.

(2) Accounts Officer’s Check Register | (b) DDOs concerned.
(Form CAM 15) should be maintained
personally by - : N

(3) RBI Advices ‘for Payments of loans | {¢)The paying branches of the Bank.
| and grants to State Governments through
Reserve Bank of India , (CAS), Nagpur are
issued by

(4) GPY accounts in respect of Group D | (d) Controller General of Accounts
and Central Government employees :
covered by the Merged DDOs should be
maintained by

(5) The final adjustment for transferring the | (¢) Pay & Accounts Officer.
amount from the head” 8675-Deposits with -

Reserve Bank to the head “8999-Cash
Balance” is done by

(Marks 5 X 2 = 10)




3. Write short notes on any three of the following :-

(i) Register of Missing Credits / Debits of GPF
(i) Allocation of pension liability in cases where pensioner has rendered service under more
than one Government.
(iii)  Expenditure Control
(iv}  Checks to be exercised on the payment scrolls/ supporting documents by PAO
v) Turn over Commission
{(Marks 3 X 5=15)

PART B

Q. No. 4 Explain the procedure for payment of pension to Central Civil pensioners through Authorised
Banks. _
(15 Marks )

Q. No. 5 (a) What are the sources from which the GPF Ledger accounts are posted in the Pay &
Accounts Office?
(5 Marks)

(b) Explain the procedure of posting the credits / debits in the Broad Sheet of GPF and tallying the
Broad Sheet figures with the accounts figures.
' (10 Marks)

Q. No. 6 The officers and staff of an office opt to draw their salary credited directly to their bank
account opened in the bank near their office premises. What action should be taken by the Pay &
Accounts Officer in such cases to malke their payments?

(15 Marks)

Q. No. 7 What is the procedure to be adopted by PAO for issuing fresh cheque in lieu of a cancelled /
lime-barred cheque?
(15 Marks)

Q. No. 8 Who are the different authorities competent to issue PPOs to various categories of
pensioners?
(15 Marks )

Q. No. 9 What are the responsibilities of the Principal Accounts Office of a Ministry/ Department?
(15 Marks)
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Q. No. |

(a)
(b)
(©)
(d)

Read the following passage carefully and answers the questions that follows:-

HONESTY — THE BASIS OF ALL VALUES

Man is the finest creation of God on the earth. He differs from all other
creatures because he possesses a personality whereas other beings lack personalities.
The personality of an individual consists in pursuit of certain moral and religious
values., The distinction between man and the rest of living animals depends upon the
fact that life of a human being is guided by moral and spiritual values, but the tives of
all other creatures do not have such values. It is these values that give man a unique
position in the scheme of universe. The life of a human being has a purpose and he
continuously tries to fulfill it with the help of his intelligence.

The greatness, uniqueness of man depends upon his intelligence and the practice
of certain values which are peculiar to hig life. The moral and spiritual values are truth,
goodness, beauty, charity, sacrifice, love, devotion to one's duty, service, kindness-to all
living creatures etc., but the value of honesty is ¢f supreme importance. All the actions
of man are truly meaningful only if they are guided by the motive of honesty. An
honest individual is a person who is honest in mind, speech and action. To me honesty
is the highest value because all other values are contained in it. Honesty requires
truthfulness and truth is etermmally good. An honest pursuit of truth always needs love,
wisdom, sacrifice and large-heartedness. So if one sincerely practises the virtue of
honesty, all virtues naturally flow from it.

Why is man called the finest creation of God ?
What are the factors guiding man's life 7
What does a human being tries all his life ?
Why and how is 'honesty' considered the highest value ?
What are the moral and spiritual values to human life ?
{4 X 5=20Marks }

Contd...2/-




Q. No.2

0. No. 3(A)

1)
i)
{ii}
iv)
v)
vi)
vii)

B)

i)
i)
11i)
iv)
V)
vi)
vii)

©

i)
ii)
iii)
v)
V)
Vi)
vii)

.92

Write a letter to Local News Paper Editor of your ¢ity complaining about the frequent
power failure in your locality.

OR

Write a letter to the Station House Officer of your locality reporting a theft of scooter.
{ 15 Marks)

Fill in the blank any five of the following sentences:-

Buta Singh realized his mistake.

She shut the door in order to stop us from in.
This is the boy won the race.

He lost all his money he did not fook unhappy:.
If we had won the match, we would have been

He rested his bicycle a tree.

The old lady sat her grand children.

(5X 1=5Marks)
Correct any five of the following sentences:

When the sun sets it goes in the horizon.

My friend lives in 5/1, Akbar Road.

Nomita is working from 10 O' Clock.

The hunter shot the tiger by a gun.

We have just received the invitation of your birthday party.

This cloth is superior than that one.

Here you can discover some fascinating sports-each by its own charm.
(5X1=5Marks)

Make sentences to bring out the differences in the meaning of the following words.

{ Do any five )

minor - miner
loan - lone
sole - soul
peace - piece
serial - cereal
weak - week
fair - fare

(5X 1=5Marks)




